A\ =
SHSEE RFHFTE(E)
(A DER) (Bifi:M)
¥ B FIEREE| FHE HF &
BTSEE LV 701,911 853,153
== 154,000 152,000 82,000 x 76
[(20234.1 &R BMLY)
RBEBDE 100,000 100,000 £ EEAIRE B IRRR LY
#MF. zOM 6
& Bt 955917 1,105,153
(ZHDOER) (Hifi:[)
¥ B WERRE| FHESE s &
BETER 91,000 180,000 THESHE.
EPHRSES NS
L8R 10,220 80,000| 2B MBIHAR R USRS
Th—LR—EE R
SEBR (] 3.000|B &R HNRHC. SIBERA. HE
EBEER 1,544 5,000 |E:% 5. BATHH, BEHES
RE 0 0
FiEE 0 837,153
at 102,764 1,105,153
BEEAEZR 853,153 )
& &t 955,917| 1,105,153




